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34 T [0 2 5.87 73.45 104.04 4 0 GAN1 1 130 1(np1n)
8 T [0 2 11.05 90.53 119.71 5 0 GAN2 2 130 10np1n)
28 2-9nInjonn X7 1 5.65 30.13 79.99 3 1 13 3 130 1(nprn)
10 3-9nnjonn 1,654,295 [a] 1,954,295 1 7.93 14.98 103.33 4 1 B4* 4 130 1(np°n)
27, 2- 9NN jonn 1,966,267 [} 2,266,267 2 7.09 14.96 119.71 5 1 K5* 5 130 1(*npn)
12 3- 9NN jonn 1,219,285 ] 1,519,285 1 5.65 11.98 79.99 3 2 A3* 6 130 1(npn)
16, 3- 9nanjonn 1,689,024 [B] 1,989,024 2 7.95 14.98 103.33 4 2 B4* 7 130 1(npn)
25 2- 9NN jonn 1,971,456 5] 2,271,456 2 7.84 14.96 119.71 5 2 K5* 8 130 1(*np°n)
32 2-qninjonn 1,269,787 ] 1,569,787 2 7.95 11.98 79.99 3 3 A3* 9 130 1(np1rn)
15] 3- ananjonn 1,649,245 [B] 1,949,245 1 7.2 14.98 103.33 4 3 B4* 10 130 1(npn)
14 3-9ninjonn N7 1 6.52 14.96 119.71 5 3 C5 11 130 1(npn)
40 3- 9nanjonn 1,255,397 [B] 1,555,397 2 5.87 11.98 79.99 3 4 A3* 12 130 1(npn)
31 2- 9NN jonn 1,649,245 [B] 1,949,245 1 7.2 14.98 103.33 4 4 B4* 13 130 1(npn)
30 2- 9nn 10NN N7 2 7.09 14.96 119.71 5 4 C5 14 130 1(np1n)
29! 2-9nnjonn N7 1 6.52 11.98 79.99 3 5 D3 15 130 1(npn)
36! 1- aNnonn N7 1 5.87 14.98 103.33 4 5 E4 16 130 1(np°n)
26 2-9nnjonn N7 1 7.93 29.91 104.09 4 5 F4 17 130 1(npn)
24 2- 9nIn jonn N? 2 11.05 58.96 130.96 5 6 G5 18 130 1(nprn)
18] 3- 9nanjonn 1,696,115 [B] 1,996,115 2 7.09 14.96 104.09 4 6 H4* 19 130 1(npn)
37 1- 9NN JoNn X7 2 11.05 88.97 174.14 6 7 16 20 130 1(nprn)
50.0% 1122 12Nwn% 1°'Nn NPT MNR 106.62 ™33 yxnn mT now|
= LELR N 2 5.87 74.34 104.04 4 0 GAN1 1 130 2 ("npn)
4 o X 2 11.05 99.73 11971 5 0 GAN2 2 130 2(npn)
18 2- 9NN jonNn N7 1 6.15 30.13 79.99 3 1 13 3 130 2 (*np1°n)
2 3-9ninjonn 1,641,981 [a] 1,941,981 1 6.15 14.98 103.33 4 1 B4* 4 130 2 (np1°n)
11 3- 9nn Jonn 1,966,267 5 2,266,267 2 7.09 14.96 119.71 5 1 K5* 5 130 2 ("npn)
7, 3- anan jonn 1,220,807 [B] 1,520,807 1 5.87 11.98 79.99 3 2 A3* 6 130 2 (*np1"n)
3| 3-9nnjonn 1,643,710 5] 1,943,710 1 6.4 14.98 103.33 4 2 B4* 7 130 2 ("np1°n)
5 3- 9n7n jonn 1,957,827 5] 2,257,827 2 5.87 14.96 119.71 5 2 K5* 8 130 2 ("npn)
6 3- 9nn jonn 1,220,807 5] 1,520,807 1 5.87 11.98 79.99 3 3 A3* 9 130 2 (*np1°n)
1 3- 9nn jonn 1,648,484 5] 1,948,484 1 7.09 14.98 103.33 4 3 B4* 10 130 2 npn)
21 2- qnn jonn 1,957,827 5 2,257,827 2 5.87 14.96 119.71 5 3 K5* 11 130 2 (npn)
35 1- 9NN onn N7 1 5.87 11.98 79.99 3 4 L3 12 130 2 (nP1°n)
22 2-9nin jonn 1,640,044 [B] 1,940,044 1 5.87 14.98 103.33 4 4 B4* 13 130 2 (*np1"n)
39 2- 9nIn 10NN N7 2 5.87 14.96 119.71 5 4 C5 14 130 2 ("nprn)
19 2-9nnjonn N7 1 6.4 11.98 79.99 3 5 D3 15 130 2 (nP1°n)
17| 2-9NInjonn N7 1 7.09 14.98 103.33 4 5 E4 16 130 2 (np1'n)
23] 2-9nnjonn N7 1 5.87 29.91 104.09 4 5 F4 17 130 2 (nP1°n)
20 2-9nnjonn N7 2 11.05 58.96 130.96 5 6 G5 18 130 2 (np1°n)
9 3-aninionn 1,701,304 [B] 2,001,304 2 7.84 14.96 104.09 4 6 H4* 19 130 2 (*np1"n)
33 1- 9nn onn [ 2 11.05 88.97 174.14 6 7 16 20 130 2 (nprn)
50.0% 1122 12NwAY 1'Nn NPT MNK 106.62 17123 y¥Inn AT how
1 (N7 TnY) NN 10NN 1,894,950 5] 2,310,474 1 7.25 15 124.19 5 1 MA5* 1 130 3(51n)
2 (1" TInY) *NMp 10NN % 1 6.27 19.38 113.37 4 1 MB4 2 130 3(5Tan)
3 (N7 TnY) *NMp 10NN 1,554,050 5] 1,951,632 1 6.72 14.98 103.66 4 1 Mmc4* 3 130 3(51n)
4 (N7 TnY) NN 10NN 1,160,361 5] 1,526,791 1 6.72 12 79.99 3 1 MD3* 4 130 3(51n)
5] (N"T TINY) *NMp 10NN 1,927,811 5] 2,345,064 2 7.25 15 124.19 5 2 MAS5* 5 130 3(>1n)
6 (N7 TInY) NN 10NN 1,701,292 5] 2,106,623 1 6.27 14.77 113.37 4 2 ME4* 6 130 3(51n)
7 (N7 TNY) *NNp jonn 1,554,050 2] 1,951,632 1 6.72 14.98 103.66 4 2 MC4* 7 130 3 (>™n)
8 (0T TnY) "nmp 10NN 1,160,361 12 1,526,791 1 6.72 12 79.99 3 2 MD3* 8 130 3(>Tn)
9 (N7 TINY) "Nmp jonn 1,906,502 ] 2,310,474 1 7.25 15 124.19 5 3 MAS* 9 130 3(»Tan)
10 ("7 TInY) "nmp Jonn §9 1 6.27 19.38 113.37 4 3 MB4 10 130 3(>Tn)
11 (N7 TNY) *NNp jonn 1,563,808 2] 1,951,632 1 6.72 14.98 103.66 4 3 MC4* 11 130 3 (>™n)
12 (N7 MnY) *nmp j1onn 1,166,468 12 1,526,791 1 6.72 12 79.99 3 3 MD3* 12 130 3(>Tn)
13 (N7 TINY) "Nmp jonn 1,918,055 ] 2,310,474 1 7.25 15 124.19 5 4 MAS* 13 130 3 (>™n)
14 (N7 TnY) *NMp jonn 1,722,358 12 2,106,623 1 6.27 14.77 113.37 4 4 ME4* 14 130 3 (>Tn)
15 (N7 TnY) *NMp jonn 1,573,566 12 1,951,632 1 6.72 14.98 103.66 4 4 MC4* 15 130 3 (>Tn)
16 (N7 TINY) 'NM1p joNn 1,172,575 P 1,526,791 1 6.72 12 79.99 3 4 MD3* 16 130 3 (>Tn)
17 (N7 TINY) 'NM1p joNn 1,929,607 5] 2,310,474 1 7.25 15 124.19 5 5 MA5* 17 130 3 (>Tn)
18 (N7 TnY) *nmp 1onn N7 1 6.27 19.38 113.37 4 5 MB4 18 130 3(>Tn)
19 (N7 TINY) "Nmp jonNn 1,583,325 ] 1,951,632 1 6.72 14.98 103.66 4 5 mca* 19 130 3(>1an)
20 (M7 MnY) *nmp 10NN 1,178,683 12 1,526,791 1 6.72 12 79.99 3 5 MD3* 20 130 3(>Tan)
21 (N7 TnY) *nmp 1onn 1,974,712 5] 2,345,064 2 7.25 15 124.19 5 6 MAS* 21 130 3(>Tn)
22 (N7 TINY) *nmp jonn 1,743,425 2] 2,106,623 1 6.27 14.77 113.37 4 6 ME4* 22 130 3(>1an)
23 (1T Tng) "nmp 10NN 1,593,083 &) 1,951,632 1 6.72 14.98 103.66 4 6 mca* 23 130 3(91an)
24 (N7 TnY) *nmp 1onn 1,184,790 5] 1,526,791 1 6.72 12 79.99 3 6 MD3* 24 130 3(>Tn)
25 (N7 TINY) "Nmp jonNn 1,986,438 ] 2,345,064 2 7.25 15 124.19 5 7 MAS* 25 130 3(>1an)
26 (N7 TnY) *nmp 1onn N7 1 6.27 19.38 113.37 4 7 MB4 26 130 3(>Tn)
27 (N7 TINY) *nmp jonn 1,602,841 2] 1,951,632 1 6.72 14.98 103.66 4 7 MC4a* 27 130 3(>1an)
28 (N7 TMnY) *'Nmp 1onn 1,190,897 5] 1,526,791 1 6.72 12 79.99 3 7 MD3* 28 130 3(>Tn)
29 (N7 TINY) "Nmp joNn 1,998,163 ] 2,345,064 2 7.25 15 124.19 5 8 MAS* 29 130 3(>1an)
30 (N7 TINY) "Nmp 10NN 1,764,491 5] 2,106,623 1 6.27 14.77 113.37 4 8 ME4* 30 130 3(»Tan)
31 (0T TnY) "nmp 10NN 1,612,599 [a] 1,951,632 1 6.72 14.98 103.66 4 8 mca* 31 130 3(»Tan)
32 (N7 TINY) *nmp jonn 1,197,004 2] 1,526,791 1 6.72 12 79.99 3 8 MD3* 32 130 3(>1an)
33 (N7 TMnY) *'Nmp 1onn N7 2 7.25 15 124.19 5 9 MF5 33 130 3(>Tn)
34 (M7 Tny) "nmp Jonn Ny 1 6.27 19.38 113.37 4 9 MB4. 34 130 3(>7an)
35 (DT TIAY) *nmp 10NN 1,622,357 &) 1,951,632 1 6.72 14.98 103.66 4 9 Mca* 35 130 3(91an)
36 (N7 TINY) "Nmp 10NN 1,203,889 5] 1,526,791 1 6.72 12 79.99 3 9 MD3* 36 130 3(9Tan)
37 (™7 TInY) *NMp 10NN N7 2 7.25 15 124.19 5 10 MF5 37 130 3(>1n)
38 (™7 TInY) *NMp 10NN Ny 1 6.27 14.77 113.37 4 10 MR4 38 130 3(>1n)
39! (M7 TINY) "NN1R 10NN 1,632,115 [B] 1,951,632 1 6.72 14.98 103.66 4 10 MCca* 39 130 3 (9Tn)
40 (DT TINY) *Nmp 10NN 1,211,523 [B] 1,526,791 1 6.72 12 79.99 3 10 MD3* 40 130 3 (>1an)
4 (0T TnY) Nmp Jonn xo 2 7.25 15 124.19 5 11 MF5 a1 130 3(>Tn)
42 (N7 TINg) "Nmp 10NN N7 1 6.27 19.38 113.37 4 11 MB4 42 130 3(»Tan)
43 (M7 MnY) *nmp jonn 1,641,874 12 1,951,632 1 6.72 14.98 103.66 4 11 mca* 43 130 3(>n)




44 (N7 TINY) "Nmp jonn 1,219,157 ] 1,526,791 1 6.72 12 79.99 3 11 MD3* 44 130 3(»Tan)
45 (N7 TIng) "Nmip jonn N7 2 7.25 15 124.19 5 12 MF5 45 130 3(>1an)
46 (N7 TINK) *Nmp 0NN N7 1 6.27 14.77 113.37 4 12 MR4 46 130 3(»Tan)
47 (0T TnY) *nmp jonn 1,651,632 12 1,951,632 1 6.72 14.98 103.66 4 12 mca* 47 130 3(>n)
48 (N7 TinY) "Nmip jonn 1,226,791 [} 1,526,791 1 6.72 12 79.99 3 12 MD3* 48 130 3(9Tan)
49 (N7 Ting) "Nmp jonn N7 2 6.28 15 125.32 5 13 MG5 49 130 3(>1an)
50 (N7 MnY) "nmp 1onn N? 1 6.27 19.38 11337 4 13 MB4 50 130 3(>Tn)
51 (0T TNY) *nmp jonn 1,686,222 12 1,986,222 2 6.72 14.98 103.66 4 13 mca* 51 130 3(>™n)
52 (N7 TinY) "Nmip jonn 1,226,791 [} 1,526,791 1 6.72 12 79.99 3 13 MD3* 52 130 3(»Tan)
53] (01 7ny) nmp jonn xo 2 6.28 15 125.32 5 14 MG5 53 130 3(>Tn)
54 (N7 TINg) "Nmp 10NN N7 1 6.27 14.77 113.37 4 14 MR4 54 130 3(»Tan)
55 (M1"T MnY) *nmp jonn 1,696,153 12 1,986,222 2 6.72 14.98 103.66 4 14 mca* 55 130 3(>n)
56, (N7 TnY) "nmp 10NN N? 1 6.72 12 79.99 3 14 MH3 56 130 3(>Tn)
57, (1T TnY) Nmip Jonn Ny 2 6.28 15 125.32 5 15 MG5 57 130 3(>Tn)
58 (N7 TINY) "Nmp 10NN N7 1 6.27 19.38 113.37 4 15 MB4 58 130 3(»Tan)
59 (N7 MnY) *nmp jonn 1,706,084 12 1,986,222 2 6.72 14.98 103.66 4 15 mca* 59 130 3(>™n)
60 (N7 TINY) "Nmp jonn N7 1 6.72 12 79.99 3 15 MH3 60 130 3(9Tan)
61 (™7 TInY) *NMp 10NN N7 2 6.28 15 125.32 5 16 MG5 61 130 3(5Tan)
62| (01 7ny) nmp Jonn X9 1 6.27 14.77 113.37 4 16 MR4 62 130 3(>7an)
63 (N7 TINY) "Nmp jonn 1,716,016 [} 1,986,222 2 6.72 14.98 103.66 4 16 MCc4* 63 130 3(9Tan)
64 (0T TnY) Nmip Jonn Ny 1 6.72 12 79.99 3 16 MH3 64 130 3(>Tn)
65 (N7 TINY) "Nmp jonn N7 2 6.28 15 125.32 5 17 MG5 65 130 3(9Tan)
66/ (0T TnY) Nmp Jonn Ny 1 6.27 19.38 113.37 4 17 MB4 66 130 3(>Tn)
67 (N7 TINY) "Nmp jonn 1,725,947 [} 1,986,222 2 6.72 14.98 103.66 4 17 MCc4* 67 130 3(9Tan)
68] (01 7ny) nmp Jonn X9 1 6.72 12 79.99 3 17 MH3 68 130 3(>7an)
69 (N7 TINY) "Nmp jonn N7 2 6.28 15 125.32 5 18 MG5 69 130 3(9Tan)
70| (@1 70y nop Jonn X9 1 6.27 14.77 113.37 4 18 MR4 70 130 3(>7an)
71 (N7 TINY) "Nmp jonn 1,735,878 [} 1,986,222 2 6.72 14.98 103.66 4 18 MCc4* 71 130 3(9Tan)
72| (@1 70y) nop Jonn X9 1 6.72 12 79.99 3 18 MH3 72 130 3(>7an)
73 (N7 TINY) "Nmp jonNn N7 2 6.28 15 125.32 5 19 MG5 73 130 3(9Tan)
74 (0T TnY) Nmp Jonn Ny 1 6.27 19.38 113.37 4 19 MB4 74 130 3(>Tn)
75 (N7 TINY) "Nmp jonn 1,745,809 [} 1,986,222 2 6.72 14.98 103.66 4 19 MCc4* 75 130 3(9Tan)
76] (01 7ny) nmp Jonn X9 1 6.72 12 79.99 3 19 MH3 76 130 3(>7an)
77 (11T TInY) *Nmp 10NN N7 2 6.28 15 125.32 5 20 MG5 77 130 3(>Tan)
78] (@1 7ny) v Jonn X9 1 6.27 14.77 113.37 4 20 MR4 78 130 3(>7an)
79 (11T TINY) *Nmp 10NN 1,755,740 &) 1,986,222 2 6.72 14.98 103.66 4 20 MC4* 79 130 3(>Tn)
80| (@1 7ny) nmp Jonn X9 1 6.72 12 81.35 3 20 M3 80 130 3(>7an)
81 (11T TInY) *Nmp 10NN Ny 2 6.28 15 125.32 5 21 MG5 81 130 3(>Tn)
82| (@1 7ny) nop onn N 1 6.27 19.38 113.37 4 21 mB4 82 130 3(>7an)
83| (11T TInY) *Nmp 10NN 1,765,671 &) 1,986,222 2 6.72 14.98 103.66 4 21 MC4* 83 130 3(>Tan)
84 (N7 TINg) *Nmp 10NN N7 1 6.72 12 81.35 3 21 Mi3 84 130 3(91an)
85| (01 7ny) nmp jonn X9 2 6.28 15 125.32 5 22 M5 85 130 3(>7an)
86/ (11T TINY) *Nmp 10NN N7 1 6.27 14.77 113.37 4 22 MR4 86 130 3(>Tn)
87, (17T TIRK) "NMp 10NN 1,775,548 5] 1,986,170 2 6.72 14.97 103.66 4 22 MK4* 87 130 3 (5Tn)
88 (™7 TInY) *NMp 10NN Ny 1 6.72 12 81.35 3 22 ML3 88 130 3(5Tan)
89] (@1 7ny) nmip onn 8 2 10.21 105.1 170.36 6 23 MM6 89 130 3(>7an)
41 2- 9NN jonn N7 2 12.06 66.39 171.56 5.5 23 MNS5.5 90 130 3(91an)
42 2. 9nIna Jonn Ny 2 11.17 44.07 143.11 5 24 MO5 91 130 3(>Tn)
43 2-9nInaonn N7 2 12.12 33.94 145.33 6 24 MPS5 92 130 3(5Tn)
93 (7T TINK) "Nmp Jonn X2 2 9.75 110.28 173.5 6 25 MQ6 93 130 3(>Tn)
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